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Unit 2- Synthetic Division

Name:

.’biective: | can divide polynomial expressions.

Period: _

LONG DIVISION REMINDER:

(2x° —13x% + 26x — 24) =+ (x— 4)

SYNTHETIC DIVISION: This is an alternative shortcut to long division.
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1. Write the coefficients of the dividend so that the degrees of the terms are in descending order.

a. (Make sure to put in O for a missing term.)
Write the constant ‘r’ of the divisor in the box for x —r. (CHANGE THE SIGN!!)
Bring down the first coefficient.

Add those 2 together.
Repeat steps 4 and 5 until done.
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Multiply the 1% coefficient by r and write the answer down under the 2" coefficient.
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EXAMPI.ES:"
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